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S godziny
grupa l a [grupa |l algrupal a |grupa |l a |grupa |l a |grupa | a [grupa | a [grupa | a [grupa | a [grupa | a |grupa | a |grupa | a [grupa | a

12.45 |grupa 1 b|grupa 1 bjgrupa 1 b|grupa 1 bjgrupa 1 b|grupa 1 b|grupa 1 b|grupa 1 b|grupa 1 b|grupa 1 b|grupa 1 b|grupa 1 blgrupa 1 b
o | -13.45 |grupa 2 a|grupa 2 ajgrupa 2 ajgrupa 2 algrupa 2 ajgrupa 2 a|grupa 2 a|grupa 2 ajgrupa 2 ajgrupa 2 a|grupa 2 a|grupa 2 ajgrupa 2 a
_§ grupa 2 b{grupa 2 bjgrupa 2 b|grupa 2 b|grupa 2 b{grupa 2 b|grupa 2 b|grupa 2 b[grupa 2 b[grupa 2 b|grupa 2 b|grupa 2 b|grupa 2 b
E
% rupa 3 ajgrupa 3 algrupa 3 afgrupa 3 ajgrupa 3 ajgrupa 3 ajgrupa 3 ajgrupa 3 a|grupa 3 a|grupa 3 a|grupa 3 ajgrupa 3 ajgrupa 3 a
= 11.30

-12.30
grupa 4 b{grupa 4 bjgrupa 4 b|grupa 4 b|grupa 4 b{grupa 4 b|grupa 4 b|grupa 4 b[grupa 4 b[grupa 4 b|grupa 4 b|grupa 4 b|grupa 4 b

o 8.30
% 1230 |9rupa la grupa 1 bfgrupa 2 b grupa 2 a |
= 12.45
S 16.45 grupa 3 a grupa 4 b‘
= | 830
@ 1230 |9rupa 1b grupa 1 ajgrupa 2 a grupa2b
q) = .
E _11%'?2 grupa 3 a grupa4b

8.30
N 12.30 grupa 1 algrupa 2 algrupa 1 b grupa2b
E 12.45

8.30 rupa 2 a rupa1lb rupala rupa 2 b
o 12.30 grup grup grup grup
= 12.45













